- AY) Tretrerba DE & & 2AD
' RAD A CRA
Qen DEqdw

A A5 4" 4> owﬂl L hdd ;m

i
!
i
f
|

@\/ rl 1
03414544 S CROEES 12,26 224" Dom) §RAD} (V) [l => 0,21 40 464 o]~ |
B [cea] PEG] |

a4 w)@g@ 13,6 2 k62 @{DEQ{[E_@F)AZ’ZQ 222 (WY (: e

12,15 43 R b o ,

Yo Y+ BetUa [ hES IR 7 - ¥ASI3ee IS 1L | | | |
| Ag) *0,} 1T L 56x, A1 313 44— 401 713 2o ,

[ [ec] [€]

a) Y }Zﬂ" 499 Y2 24 kag 34 (73 B@AM 343 14301 593 EeﬁEls 53%8&
k) #9)= ot 143, 14 Blton 543, QGB['Z:S B 425 224 24}3435 226, BRMEl |
5,332548%

c) ;@y Mo #2 4o m%@@ $20%24 21435 326, acamzs 994

i
l
z‘
E
£

V=3 5325879 [fa) = 0,0582302 dee > 0" 3/ 29"

R

arcty V= W0t > 3325878 [INV|[fa”] = #3,29715

S i



